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Which of the following is not a component of

computer ?

(A; Projector (B) Input Unit

(C) Storage Unit (D) CPU

Which of the following set up on 1% August 1969

for exercising Superintendence and Control

over the Market Committees in the Haryana

State ?

(A) Haryana Agricultural Board (HAB)

(B) Haryana State Agricultural Board (HSAB)

(C) Haryana State Agricultural Marketing
Board (HSAMB)

(D) Haryana Silk and Marketing Board (HSMB)

By selling 12 oranges for a rupee, a man loses
20%. How many for a rupee must he sell to
gain 20% ?

(A) 5 % (B) 10 %&Lﬁ
(C) 8 (D) 15 A
Which of the following National Park not
situated in Haryana ?

(A) Sultanpur National Park

(B) Rajaji National Park

(C) Kalesar National Park

(D) None of the above

Two positions of a dice are shown below as
(i) and (ii). When six is at the bottom, what
number will be at the top ?
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(i) (ii)
(A) 5

(C) 4

The public enterprises like Indian Oil .
Corporation Limited and Steel Authority of
India Limited are the examples for

(A) Navaratnas (B) Maharatnas
(C) Miniratnas (D) None of the above

Between whom the Treaty of Villa Franca was
signed in 1859 ?

(A) France and Austria
(B) France and ltaly
(C) htaly and Austria

(B) 2
(D) 1

(D) Italy and Germany
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%«‘ sent in Haryana ?
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V
A watch gains 6 minutes in one hour and was

set right at 8 AM. What time will it show at
6 P.M. on the same day ?

(A) 7:30 P.M. (B) 7P.M.
(C) 8:30 PM. (D) 8P.M.

The Haryana Police has launched a new
software application, named _______, which
will allow the police to digitise and centralise all
criminal records and quickly match the details
of a suspect with a centralised database during
an investigation.

(A) Police Data Centralization System

(B) Police Data Analytics System

(C) Police Data Digitization System

(D) Police Artificial Intelligence System

A

L Exanzy

Inanexamitis required to get 36% of the maximum 0.

marks to pass. A student got 113 marks and failed
by 85 marks. The maximum marks is

(A) 1008 (B) 550
)

(C) 640 (D) 500
11.
Government has planned to setup a Nationa ¢
i

in which of the following cities, Haryana
Disease Control Centre (NCDC) ?

(A) Hisar (B) Gurugram

(C) Ambala (D) None of the above

In which of the following the Ganga Flood
Control Commission, Patna was established ?

(A) March 1971 (B) April 1955
(C) April 1972 (D) May 1996

The 14" Non-Aligned Summit was held

(&)
Sl
PR AL

o]

in (V
L b
(A) Havana (B) Delhi [S /W ()
(C) Bangalore (D) Belgrades\o3 7

The time taken by a student to reach his college
from his house is 1 hour and 40 minutes. The
college starts at 9 . 40 A.M. If the student
reached the college 10 minutes earlier, then at
from his house ?

(B) 7:40AM.

(D) 7:50 AM.
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S

(A) 8:00AM.
(C) 7:45AM.

(Vidhan Sabha) seats pre
(B) 95

(A) 90
(D) None of the above

(C) 100
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16. There are 3 circles in the following question. 16. Freaffad w1 # 3 36 € | YR g9 ¢ A gy
First circle indicates the area of wheat, second = gIiaT R, TEU AT AR O F &7 9y
for rice and the third indicates the area of gram. aatat 2 |
1 A e B nf:e % A % 2
Wheat g A : T
NG >
3 3 “
Gram 3 - % g
The area of wheat, gram and rice indicates g, = 3R 9T & &9 ) e 2 SE)
o e mc B8 M @ c
() D (D) A e (C) D D) A
17. A ____is a series of minor data security | 7. T® ' Y2 ST g A ) T aen
attack that together result in a larger attack. £ 37wk Ty &2 3HRH A oRfor Bt R |
(A) IPR violation (B) Phishing (A) arfflem Seewd (B) THRM
(C) Doxing (D) Salami attack (C) sifwm D) TETH! HTHA
18. Ina mixt2ure olff 60 litres, the ratio of milk and |  18. 60 et & & fusm # qu 3R gHt # I
water is 2 ~1. If the ratio of milk and water is to . .
0y 0. 1% |gft Ty ST 1 U 1: 2FAE, A
be 1 : 2, then the amount of water in litres to be kN : ’
further added is ) e S e Tt <R A e # gt
(A) 60 (B) 30 JA) 60 (8) 30
(C) 40 (D) 20 (C) 40 (D) 20
19. Which of the following Buffaloes varieties | 19. frafafiaa & @ shamm # g £ FA-di e =
(Breed) of Haryana also known as “Black Gold ‘NI T Tel QAT el ATl 27
of India” ?
(A) Nagpuri (B) Surti (A) ATTgd (8) Tt
(C) Nili Ravi (D) Murrah (C) =it =t ) T
20. The voltage varies over a cycle varies as | 0. T T T e Osts%, ¥}V = Vgsina,
— V sinat K vy =-V_ sinot for )
V = V,sinot for OStsm'V o SIN® Estsgﬁﬁ%QV:—Vosinwt%wﬁvﬁaﬁﬂ
LN 21 Tne average value of the voltage ® ® .
® ® BT 2 | U s % Rg Aedst o e[ 7
for one cycle is v oV
v 2V (A) 2 B) —
AY =2 (B) — 2 n
: Vo (C) Zero ® Yo
(C) Zero © 5 2
21, are cold-blooded animals. 21 HIee-FASE T 8 §
(A) Poikilothermous (B) Poithermous TNRIHEEIRLE (B) diswdd
(C) Holothermous (D) Poitohermous (C) Brirerdd :"D) _ o
22. Facebook was launched in the year 22, %EgH B T — 3 gheret e
as social networking service and websm_a, ma;m 3 df=a T T o, sﬁqﬁ&:ga;ﬁff
founded by Mark Zuckerberg and few of his i ﬁ@mﬁﬁmwﬁﬁmwm'
C((:;egg:g& (B) 2005 (A) 2019 B o
) 4
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Blue tongue disease in Livestock is caused by

(B) Fungus
(D) Virus

(A) Mycotoxins
(C) Bacteria

Which of the following cities in India has topped
in the NITI Aayog Sustainable Development
Goals (SDGs) Urban Index and Dashboard
2021 -227

(A) Shimla (B) Coimbatore

(C) Mumbai (D) None of the above

In Haryana, the Hathnikund Barrage situated
on the river

(A; Yamuna (B

(C) Sutlej (D

Mohan travels 7 km to the North direction
from where he is standing and turns to
his right. He then walk straight for another
3 km and again turning to his right he moves
7 km. How many km away from starting point
is he ?
(A) 5
(C) 3

Krishnavati
None of the above

(B) 4
D) 1

Everybodyinaroomshakeshandwitheverybody

else. If the total number of handshakes is 66, |

the number of people in the room is

(A) 14 (B) 12

(C) 8 (D) 11

In which type the ovary occupies highest
position on the thalamus ?

(A) Perigyny (B) Epigyny
(C) Hypogyny (D) Mesogyny

The five founders of NAM (Non-Align
Movement) does not include

(A) Stalin of Russia

(B) Nkrumah of Ghana

(C) Sukarno of Indonesia

(D) Josip Broz Tito of Yugosiavia

'\

The relationship between inputs used and
output produced by the firm is knowg as
(A) Cost-output relation )@O}\}
(B) Cost of production *
(C) Cost function LM
(D) Production function
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Who wrote Indica ?

(A) Vishakadatta
(C) Megasthanes

(B) Huan Tsang

(D) Kautilya

What is the main objective of Haryana Nalka
Yojana, 2021 ?

(A) Provide tap water to urban people

(B) Provide tap water to industrial estates in
the State

(C) Provide tap water to rural people
(D) None of the above

systemis used in computer networks
which allow different users to access the same
data and application programs on the same
network.

(A) Multi-processor operating system
(B) Multi-user operating system

e
=i

(C) Multi programming operating system %

(D) Batch processing operating system
GUI stands for

(A) Graphical Unique Interface

(B) Graphical Universal Interface

(C) Graph Use Interface

(D) Graphical User Interface

The hypertext documents on the WWW are

known as
(A) Web pages
(C) Home page

(B) Website
(D) Hyperlinks

is a set of connections between
two or more components/devices, which are
designed to transfer several/all bits of a word

from the source of the destination.
(B) Memory
(D) None of the above

(A) Processor
(C) Bus

The term ‘Blue Revolution’ is related to
(A) Aeronotics (B) Kerosene
(C) Blue diamond (D) Fish
The State of Haryana was constituted on
(A) November 1°1 956
(B) November 1511966

(C) November 151968
(D) None of the above
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In a certain code language ‘743' means
‘Mangoes are good’, ‘657" means ‘Eat good
food’, ‘934’ means ‘Mangoes are riped'. Which
digit means ‘riped’ in this language ?

(A) Can't say
(C) 9

(B) 4
(D) 5

Walking % of his usual speed a man is

10 mins late to workplace. The usual time
taken to cover that distance by the man is

(A) 8 mins 20 seconds (B) 50 mins
(C) 12 mins (D) 1 hour

The historical Sher Shah Suri Marg is called as
(A) NH-1 (B) NH-7
(C) NH-8 (D) NH-4

was a new initiative taken by the
Government of India in November 2016 to
tackle the problem of corruption, black money,
terrorism and circulation of fake currency in the

economy.
(A) e-banking
(C) Bank merging

(B) G.S.T.
(D) Demonetisation

(B) Sister
(D) Aunt

How is my mother's brother's only daughter
related to me ?
(A) Niece 5/
BANISH : NASHIB : : HARPED ?

(A) DEPRAH (B) RAEDPH
(C) ARHDEP (D) None of these

(C) Cousin

Complete the following analogy.

What annual payment will discharge a debt of
Rs. 580 due in 5 years the rate being 8% per

L

/ Ay 3t
CF- HAP Ms *

ol 2w § 743 = aes ‘Mangoes are
good', ‘857’ &1 Watet™ ‘Eat good food', ‘934’ #
HAcT ‘Mangoes are riped' | i 3@ w1 & @A
3T ‘riped’ F qetaT B 7

(A) =& 7€l Toha (B) 4
4C) 9 D) 5

48. A W =@ %aa%gqqmar%mﬁ
R T R 10 firfe 3@ wden @ | =afw g 3w

T h 7 F F g v mn ww T &
(A) 8 fime 20 The (B) 50 fime
») 1272 (D) 1w
Uererfres veme gt At A FE IR |
(A) TT=-1 AB) TGE-7
(C) Tiu=-8 (D) TiT=-4
42. YRR F THEN, FAl GH, JAWFAR AR
> ardforaedn § Tl i & e @ e & fore
N 2016 TRAFTHERGUA T THT
Z g ot |
>< AA) 3-SifT (B) Sheadd
L0 (o) & P D) g

43.  HOHTF s i e ¥ fea d 2w Ed ?

(A) TSt (B) =&
F\ /‘7 (G) Wl e (D) ==t

44, frefefaa geeTar Hi AT |

BANISH : NASHIB - : HARPED : 2 RAZ DFH
(A) DEPRAH /ea) RAEDPH
(C) ARHDEP (D) T A FE

Pr-w aF TEE 8% M B
5 T . 580 ¥ T 0 Are A 7

/5.
%

K0
4

annum ? kY (A) ¥. 120 AB) %. 100
0
zé; s 20 fS§ Re. 166.40 ¢ ?f (C) ¥ 65.60 (D) ¥. 166.40 N
The United Nations Global Forum for Road 46. TS* qlﬂmlma 3&; 'i::?;;?ﬁﬁwm S Q///C}Z/
Traffic Safety has appreciated the initiative Of :a‘ra::m%amam gfera <1 et St FUET
Haryana Police to reduce deaths and injuries \// e i A Frg ot ? f
caused by road accidents on /K (A) T 907 _AB) TE= 44 / 3
(A) NH 907 (B) NH 44 (7 (C) THEE 52 (D) T 11 /\M/\ﬂ
(C) NH52 (D) NH 11 3
- » .Z)V)/ ‘24]:18 Xgﬁ
g~ $7° w2 %) LT AN ol
P Q“‘{/ n/ T e L

.%/ A" 55
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47. Who was the first Spea:ygrhof Hsargﬁna 47. wfemon ey & vy T e P 9 7
Legislative Assembl idhan Sabha — &
(Ag)J Shanno Devi y( g Rao B|ren(jer Singh (A) ‘{Fﬁ%ah AB) 1 fart §_ﬁﬁ
(C) Kanwar Pal (D) None of the above (C) e 9t (D) Iutiaa & @ IS 7
48. For KCI, NaCl and MgSO,, the van't Hoff factor, i | 48. KCI, NaCl 3it MgSO, % feru, arue &% &1, |
approach __ as the solution becomes a2 Fifs fomm oed e @
very dilute. . AR | e
(A) 1 B) 3 (A) 1 (B) 3 Sk
(C) 2 (D) 4 ) 2 (D) 4
49. By default, each workbook in Microsoft-Excel |  49. Y R}, AEHEG -GG 2003 T T
2003 contains worksheets that can be a&’rﬁ% L e @@ E R Y 2w
accessed by sheet tabs. 210 vaey fora s 1T |
(A) Four ®) Two () =W (B A
(C) Three (D) One (C) ¥ (D) T
50. The farmers of Haryana State are motivated 50. EREWN TS % e Frafafea 3 9 for waeh
to adopt fishing in e & g dfa € 7
(A) Estuaries (A) GeM T
(B) Salt water only (B) ¥ @R qrHL
(C) Marine water (C) T urt
(D) Inland water and artificial pond - }()) s sa @T\-{ﬁq RG]
51. The principle of acting to benefit others without | 51, ot foreft samsfuzan 2 zael % @l 1 @ TEaH
any selfishness or seli-interest F fou s w0 = fagra
(A) Retribution (B) Abomination (A) wfawna (B) oI
(C) Altruism (D) Animosity J) sk (D) gEft
52. Complete the following analogy. & 52. ﬁiafégﬁé'ﬁ HEI]. ‘{ﬁ shifs | M /C“
AEI:EIM:: 10U :? ] AElEIM : _|QU
(A) MSY (B) JKL AK) MSY (B) JKL
(C) EM (D) XYZ (C) EIM (D) XYZ
53. A man travels 3 km towards East then 2 km 53. T&F Afaa 3 fareiiet r@f # o T &
towards North and again 2 km towards East 2 forciivfiet I Y o ST @ e g 2 feremmdiet
and finally 14 km towards South. What is his r{;,i H R 9T R, T9F 918 o7 14 A
nearest distance from the starting point ? aftqor Y 3R ST R | T e § = o 98 g
% foru Frepean g @ @h ?
~
oy (A) 12 km (B) 13 km (A) 12 feretiiex 4By 13 foraiet
9\ (C) 21 km (D) None of these (C) 21 fFamftex (D) T A @IS e
¢ 4 4 4 4 -
s4. Valueof (08 —(Q4 54. (05 -4 wHqe32
(0.5)2 +(0.4)2 (0.5)? +(0.4)%
4
Q,>\\ c‘.\ (A) 0.009 . (B) 0.09 (A) 0.009 B) 009
N (C) 9 (D) 0. 9¢ C) 9 (D) 0.9 —
/60\:18 M R Lt
,o°\ L ' 3) " 0
o 0 (eY) ﬂaé") I @9 o O
e { 5> &> N WA ;
3/\ \ /LO(‘) K g SE
&) et SIS
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In which of the following the succession is
starts in aquatic environment ?

(A) Mesarch (B) Xerach
(C) Hydrarch (D) Lithosere

Which of the following is not an input device ?

(A) Printer (B) Mouse
(C) Scanner (D) Keyboard

is used to send message to several
addresses without showing everyone all the
addresses.
(A) Attach files

(B) Courtesy C
(C) Subject ) Y on &

(D) Blind Carbon Copy

Who among the following is recently appointed
as the CEO of Kaushal Rozgar Nigam, Haryana ?

(A) Sharandeep Kaur Brar E’{@ﬁ
(B) Durga Shakti Nagpal oo
(C) Smita Sabharwal ‘

(D) None of the above

Which of the following currency has been
introduced by the Iran Government to tackle
inflation ? e

(A) Toman

(C) Rial

(B) Pound Sterling
(D) None of the above

If the average of 4 observations is 20 and when
a constant ‘C’ is added to each observation,
the mean becomes 22. The value of ‘C'is

we 87 @2 Y29

(C) 4 (D) -2, q?p?
727 C . -
Kamal is%qtinfeé%ider thanieﬁ ;zs{erﬁfeéﬁa

who is 2 years younger than her brother Vijay.
If Vijay is 10 years old, then age of Kamal is
(B) 42yrs

(D) none of these

(A) 56 yrs
(C) 40 yrs
With respect to Money Laundering Law,
FERA stands for

(A) Financial Exchange Registration Act
(B) Foreign Exchange Regulation Act
(C) Foreign Economics Regulation Act
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(D) Foreign Economics Registration Act
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Fraferfiaa # @ B seft araraTo § gHA IR
A2 7 | o
(A) BET (B) Sr=

4R) T (D) frevdRy

Preaferfea # & # - v g femem A B 7

(A) T &8 T3d « 7
L mvEm e udl i R e R
g Hey U9 & fae R S R

(A) Attach files (B) Courtesy Copy

(C) Subject )B) Blind Carbon Copy
frrfafaa 1 @ fFd e € o Fa e o,
ThTon o ey e TR (< 3.am.) Frge y

frm T ? ~d? Y
(A) THUTEN SR TR Y )
(B) gt Wi ARTITA (\9\"1
(@) fora gertaTe 4

(D) IFa # & IS T
2 frafm s@ % R @ F@R A
AR T A A-d g gE A8 7
(A) TEH By IS Wi
(©) T (D) I H & I T

aft 4 e a1 ahad 20 3 37 IEH O FEdT
(@ TeE TEag i Sre fan S R, @ e
22 AT | ‘C R AAR '

(A) 6 @) 2

) 4 (D) -2

et o s dom, S o W forew @ 2 7
eﬁﬁ%,%swa@%mﬁﬁwmmw%ﬁ
e & 39 a7
(A) 56 T4

AC) 40T

¢ YieA S & we H, FERA
S |
(A)wmﬁmmﬁﬁmﬁm
(B) T TES! TR T

(B) 427
(D) T AR
& farg

(C) iR Tt e TR QM»;

Mﬁﬁwsﬁmﬁwrﬁ@mm /

4 ’ : 7&;—
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63. Ina certanJ\ code, APPLE is coded as 2‘5§ 63. R uw i #rs i APPLE w1 #e 25 forn

GRAPES is coded as 36, so what will be the

code of PAPAYA ?
(A) 36 (B) 49 9(,
(C) 4 (D) 81

Direction (Q. No. 64 and Q. No. 65) : Find the

missing number from the following series.
64. 7,12,19,28,?
(A) 37 (B) 39
(C) 57 (D) 49
65. 8,12,7,64,128
(A) 28 (B) 27
(C) 15 (D) 36

66. Which of the following is the State bird of ‘}

EpyE Haryana ? Yyl
: (A) Myliobatis aquila 9 5 2~ 4 vl
. (B) Acridotheres tristis L
(C) Corvus brachyrhynocus 117‘“’
(D) Francolinus francolinus 9 \;9
67. What is heterostemony ? Y+ \1

(A) Stamens of different lengths
(B) 6 stamens equal length
(C) Stamens attached to perianth in equal |ength
(D) 4 stamens equal length
68. The value of ok/«‘(/ A
592 x 592 x 592 + 167 x 167 X167 L 3t
592 x 592 — 592 x 167 +167 x 167 A
(A) 759 (B) 425
(C) 334 (D) 1184
There are 5 students P, Q, R, S and T who are
sittingonabench. T and Q are sitting together,
T and R are sitting together, P is on extreme

left and Q is second from extreme right. Who is
sitting between P and Q ?

(A) Rand S (B) Rand T
(C) Rand P (D) QandR
It focuses on the relationships among
individuals within a society
(A) Symbolic interactionism
(B) Conflict theory

(C) Positivism

wf

k")

69.

70.

8, GRAPES 1 #Ig 36 frm man 2, & PAPAYA
maﬁsmﬁm?

_4X) 36 (B) 49
(C) 4 (D) 81

Péw (w.9. 64 3w, 9. 65) : PrfrRa sjen #
& 91 (N

+ 1/
64. 7,12, 19, 28, ?

(A) 37 i
©,57, 7

%64 128
m 28 (B) 27
(C) 15 (D) 36
66. Feeiad § & F-am ghemn &1 T vEfi R 7
(A) RferisRa ufFer
(B) Thsifris g
(C) #Raw FFUzTIFa

4B) 39
(D) 49

N

- &
[ &
) -6

R Ly
(B) TR SIS % 6 THaT
AC) (PR aH s § T A g e &
(D) THH T & 4 e

592 x 592 x 592 + 167 x 167 x 167

592 x 592 — 592 x 167 + 167 X 167

{4

471 Ay 759 (B) 425
l//O} (C) 334 (D) 1184
/169 P,Q,R, S T e i s dam BB E |
TaRQuwaw R §, TR aw R
P e a3k 337 £ 37 Q TR AR A
AR I PRQFfada e ?
(A) R3S B RIMT

(C) R3RP (D) Q3R
7% U WIS % sftat AR} & i qeH W

Higa?
(A) WefiTene o7 :fshamaTg
(B) wud g

70.

(D) Structural functionalism
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71. Figure (x) s embedded in any of the four
alterngtlve figures. Find the alternative which
contains figure (x).

N AReY
Figure (x) '
(A) (B)
1 \/

92 9

a1 4©) ©)

72. A theoretical approach that sees society as
a structure with interrelated parts designed
to meet the biological and social needs of
individuals that make up that society -

(A) ldealism
(B) Interactionism
(C) Socialism
(D) Functionalism

73. The ‘Sariska’ Wildlife Sanctuary is located in

the State of

(A) Guijarat (B) Rajasthan

(C) Bihar (D) Uttar Pradesh
74. Inspector belongs to which among the rank

structure of Armed Police ?
(A) Section

(B) Company

(C) Platoon

(D) Battalion
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71.

72.

73.

74.

=
¥

&

=

<76
Fot ()34 o o o

o o wmifeg

o TR R | ey ot & R

w0 e ot () e e

[\7

ot (x)

el

(B)

(©)

T dgifcren SR St AU A TF T F §9
¥ e }, S 3@ GEN I I IS AR H
I i g Sl @ QU FA & e Fm
T YT TR Wil 3 6T R, W FEd ©

(A) JRETER

(B) a:Tramame

/(E)HW

(D) YFRER

‘giees’ sl IWART

R

(A) TSRIE
(C) =R

Wg%vﬁqaéﬁmﬁaﬁﬁwmﬁ

e ?

(A) QH
(B) st
(C) =

J,B)azﬁ%ﬁﬂ

T ¥

4B) TS
(D) ST
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75. Choose the right option from alternatives for

question mark (?) in figure.

B8P

76. Who invented water frame ?
(A) James Watt
(B) Richard Arkwright
(C) Sir Clement Clarke
(D) James Hargreaves

(B)

(D) -

77. ASEAN was established in
(A) 1967 (B) 1985
(Cy 1975 (D) 1954
“World Heaﬁth Day” is celebrated every year on

(A) 22™ September (B) 8" March |

(C) 7" April (D) None of the above
79. is soluble in fat and oil.
(A) Vitamin A (B) Vitamin B,

(C) Vitamin B,, (D) Vitamin C
in Microsoft-PowerPoint, if you choose

a new presentation is displayed using the
design selected by the user, consisting of a
single slide.

80.

Join Telegram Group "HaryanadJobs.in"

CF - HAP - ms

75. Frefafaa fell § v g (2) 9 fm ¥ R
3fra waia s |

@ :

(B)

) » (D)
76. SeraTs A w1 sTarshR forea o ?
(A) = 9Te
(B) T=E kg
(C) W T FATh
4P) Sry wafisst
77. ST (ASEAN) = €01 Aggd)
) 1967 (B) 1985
) 1975 (D) 1954
78. ‘Prawrafag’yhiad ®wEmE
AT e |
(A) 22 faaat (B) 8w
(R) 7 ¥ (D) It # & g T
79. _ wmeind@d e |
(A) Frfim A () faif B,
(C) FafmB,, @) fFafmC

80. WEFIETR-wEERed, aRew___ FWE
— amm@mmmmm,mﬁ
S o e e R, v d gl Rl A 8

A) Vel 9 (B) TR
(A) Status bar (B) Tool bar (
(C) Design template (D) Menu bar (C) fesimg Trgeie 12 L) ’EFLW’ .
81. In a certain code, RAINBOW is coded as af2 w Fafer Fre § RAINBOW &1 ABINORW
ABINORW, then how is TRAIN coded in that @ e e mn B, @ ﬂ%?ﬁm &4 #e
code ? — ,
(A) RAINT (B) NIATR 4A) RAINT (B) NIATR
(C) AINRT (D) ANITR (C) AINRT (D) ANITR g
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82.

83.

85.

86.

87.

88.

89.

90.

Join Telegram Group "HaryanaJo%"
Y

Mr. Vijay ranked 9" from the top and 38" from

the bottom in a class. How many students are
there in the class ?
(A) 48 (B) 46
(C) 47 (D) 45
HCF o:two expressions aand b is 1. Their LCM is
A) — .
(A) — (B) a-b
(C) ab (D) a+b
The Headquarters of Lala Lajpat Rai University
of Veterinary and Animal Sciences in Haryana
is located in
(A;,Jin.d (B) Hisar
(C) Karnal (D) None of the above
Human beings were, since long, not only
interested in knowing more about different
kinds of organisms and their diversities, but
also the relationships among them. This
branch of study was referred to as %ﬁg
(A) Surrections (B) Systems i@
(C) Systematics (D) Synergies
Nobel prize in Economic Science/Sveriges Riksbank
Prize in Economic Science — 2019 awarded for
(A) Empirical contributions to labour economics
(B) Methodological contributions to the
analysis of causal relationships
(C) Experimental approach to alleviating
global poverty
(D) None of the above
The slash and burn agriculture is known as
‘Milpa’ in
(A) Vietnam (B) Venzuela
(C) Indonesia (D) Mexico
In English alphabet, which is the 213 letter from
the left end ? Tip
(A) U (B) L :
©T D) Vv
The momentum of a body is increased by 25%.
The kinetic energy is increased by about
(A) 38% (B) 5%
(C) 56% (D) 25% ;.
What is the rank of Indiain the FIFA_ (Federat!on
Internationale de Football Association) Ranking
2021 ?
(A) 108" (8) 101
(C) 106" (D) None of the above
-13-

82.

83.

84.

85.

86.

87.

88.

89.

90.

CF - HAP - MS

ot e Tl Fean d SR A 9 It W el f_
38 A tw m R | e o F e Reremeff ¥ 7

(A) 48 AB) 46

(C) 47 (D) 45
aa?r{t:ﬁta:ﬁaxf%ﬁwmﬁlmm%
(A) = (B) a-b apiE
L) ab (D) a+b A

mﬁmmmmﬁmmwﬁm

Fervafarnera =1 qearer w7 fm # 7

(A) Sffe
(L) FE (D) 3Iul=d ¥ & w7

T, | g9 R/, T Faa faftm wwn F St o
7t Rafdumetl & s o A7 ¥ w9 9o
I 9 & Gadl F R § ot ST e 2, e
%1 39 TTET I FHE I 2 -
(A) TEH (B) =

(C) fr=ife=a (D) g&am

arofeTre § Faet QR /S § afew faaes
qEER-2019 & ferqfeanmn |

) mw refereedn ST ATTEH

(B) rirentes Gedl ¥ farcion & faftrer A

(C) e st % IEH & TR I

(D) IR & | I ,

WY 0E 5 FN R A ‘fren’ ¥ WA

HATIETER | _

W T (B) dquen

(C) sRfRrn (D) AR .

3ol aotren & AT OR A 21 @ SR AA-T R ?

%) U “B) L

CT (D) V

@ﬁgmﬁﬂzs%mﬁmm% | Tiferet St

St S ik 4

(A) 38% (B) 5%

(C) 56% D) 25%

m(mgzﬁsﬁaam@mm)ﬁ"

2021ﬁmawun=raﬁ=r—m%?* '

(A) 108 AB) 10141

(C) 106 af (D) 70 3 @ F T
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English Language

Direction (Q. No. 91 and Q. No. 92) : Fill in the blanks

with appropriate prepositions from the alternatives
given below them. :

91. |saw him the crowd.
(A) on '
(B) among
(C) besides
(p) in

92. They found gold coins the mattress.
(A) through
(B) beneath
(Q) into
(D) across

Direction (Q. No. 93 and Q. No. 94) : Fill in the blanks

with appropriate articles from the alternatives given
below them.

93. Heis LL.B.
~ 4AJ no article required
- (B) the
(C) an
(D) a
94. boy sings a melodious song at the

crack of dawn.

(A) No article required
(B) An

(2) Neither (B) nor (D)
(D) A

95. Fill up the blank in the following sentence using
the right forms of the word given in bracket.

The boys were ridiculing him for his
(coward).

(A) Cowardy

(B) Coward

(C) Cowardice

(2) Cowardly

96.

97.

99.

100.

CF - HAP - MS

‘et e wEfoiEe _ #|
(A) stqufert

(B) srwafe

(C) IFquRE

(D) ¥ A+ 7

fwiwwm _  yedidddm)
(f) qeEH

(B) aga

(C) freft

(D) ¥ & =i T

IR T i foras o g Rl gl & e
9 FEd T |

A) &=

gp) =

(C) o

(D) T8 A =¥ T
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